M
b

o

0|
olig
Nfo

ojn

ab+6 — g2

6 _

bS
x22 % y? = xiy?

abxa

b2><2><2
22><3 — 26

© (12)% x)® =10 x )3 = B3 = 18
@ (04)2 X ((12)4

@ (b2)3
@ (22)3




®

X14y16



3. o= AN I UmA U g she? (F,a20,b#0)

@ a*xa*xa @ al® +a?

@ (a3)5 - a6 @ (a3b2)3 - (b3)2



4.

=
M
Tlo
B



® 12b

@ 24b

® 27b



6.

18ab? = 3a%b =+ 4a3b® x 2a°b3

5 J=X
=%

2 7}

=2 =



7} =2 0] ZAo)7} 3a, M2 2] Zo|7} 2p 0] 1, Bul7} 2442
=7

© 6a ® 4b @ 3ab ® 4ab



8. Bx-[-2x+2y-3{x+2~ (x-2)}]+20 & D] SHAEY ax+
by 7} =1}, olul, a + b 2] FH-& 5kt

> L
=%



2y
—4x
®



ax2bd o, g T & As BF AEA?

@ -2a+1<-2b+1
@ 3a-5=23b-5

3 3
— 6<,
® 4a+ _4b+6



@ 17 ® 18 @ 19 ® 20

O 16



Q@
a* x
Cl2
a6

a

®
G
= at
= a?

@
®
©)
©

)
, @

®
Q0
,©



13. 5% 45" 4 5 4 5% 4+ 552 7FA5] e H?

@ 5x+1 @ 55x @ 25% @ 5x+2 @ 5x+3



14. o5 A2 AR 237t 3 o] HE A7



—_—
Ife]

12xy? + 4x3y x 3xy & 719

15.



29
36

27
36

25
36

23
36

@

19
36



17. 2424 a o thato] > o] 7]okao] T, x = (99.9 - 0.9) x - 9]
1la 1la

gtol Aa5 ), x ) 247k ool

D R
=%



18. 53 =5"xo oA O9 3&?

O 25 @ 5 ® 625 @ 125 ® 75






31,2\3 n
20. ((bb){nb A, m+ n o AL Fatolat,

D R
-



21. 2"9x3x5% 2 Ao £Q17

@ 8 @ 9 ® 10 @ 11 ® 12



22, 1X2x3Xx4X5X6XTX8X9Ix10=2%x3x5x7 AW, a+b-c—d
o] 3t oot

> S
=%



s F 7x— {2y Bx-y) + (-5x+4y)} - 3y & HI=A At

® 15x - 10y @ 15x+ 10y ® 3x-2y

@ 5x+ 10y ® 3x+ 8y



24. JIHY £3E0H 21S FAste Al et 3ldo] otd 170
5000 ¢ o] a1 vH&=7} 2000 ¥ = HoF sh=H], 2l47Hls otd 7
H] 10000 9-& WAL 17} o]l 20% & €% Wil oSG2k FEetal ot
=08 Z N ol At el Ble7kde] o A A Q1A F-stefEt.

a Ct- 7H



25. n o H5 ), (~4)? = (2" = -2 olck. o W m 4 n 9 FS
Fotofet.

D
=%



